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101 Problems in Calculating Trigonometric Limits with Solutions

(Part 2)
PROBLEMS

Find the following limits.

. tan(36) . 62
L g_{r(l) sin(0) 35. g_{r(l)tan(zw) 69?3(1) 1—cos 2(26)

. 3sin(@) . tan(af) . sec(66)tan(36)
2. él_r)l’(l)—. 5 36. g_%_tan(be) 70. gll‘)l’(l)—a
3. ljim 2289 37. lim—e— 71. lim 62 cot 2(46)

6-0 06 6-0 COS(E—G) 6-0

sin(36) . ‘305(9"'%) tan(m—6)-6

4. 60 sin(40) 38. }91_% 0 2. g_{r(l) sin(0+m)

. 6 . COS(§—9) . cos(a@)tan(ab)
5. Bll)rgl+ Sn(V9) 39. gl_l’)r(l) ) 73. }91_r)1(1)—b(77

. sin(0) 0 cos(af) tan(afh)
6. elirglJf Vo 40. 1191—r>r(1) sin(9+—) 4. }91—{% cos(b) tan(b8)

7. l)l_r)r(l) Bcsc(0)

. sin(-36
8. hm¥
-0 40

. sin(af
9. lim sin(a)
-0 bO

sin(af)
10. él_r}(l) sin(b@)

. sin 2(k0)
11. l)l_r)r(l) 2

12. él_l)r(l) sec(6)

13. l}l_r)rcl)?) cos(6)

. 1
14. };I_I}(l) cos(6)

sin 2(8)+2 cos(0)-2

: 2
al. g—r;r(l) ] £ 2;1_13(1) cos 2(0)—sin(8)-1
. . (T T . sin(26)—-tan(260)
42. 11_r)r(1)sm (;+ 9) cos (;+ 9) 76. }915((1)9—2
a0 i -
43, 1im 2E-%9) 77. lim 22026
6-0 b6 8-0 0
a0 _
44. lim C°S(; ) 78. lim 2=5<®)
6-0 cos(;—b@) 6—0 7—cot(0)
45, 1im 22G%) 79, lim 2c25@)=sin®)
" 950 sin(g—be) " 60 0
. . . sin(26) tan(6)
46. }91_r)r&[sm(n—9)+tan(n—9)] 80. gl_r}‘(l) —
47 tan(af) 81. lim sin(20)+tan(0)
" 950 sin(bB) " 850 36
sin(0) . tan(0)—sin(8)
48. Im =& 82. gl_rg—gz



15.

16. lim

17. lim
18. m costwe)
19.
20.
21.
22.
23. 1
24. lim

25.
26.
27.
28.

29.
30.

31.

32. 1

33.

34.

lim cos(6)
6-0 6

i
9—0 cos(6)

cos(360)
9—0 cos(460)
cos(af)

. 1—cos(0)
llm —_—
6-0 0

. 0)-1
lim £
6-0 0

. 1—cos(0)
lim
6-0 9%
lim
0-0 30

2

im

9—0 1—cos(8)
1—cos(560)
9—0 cos(76)—1

2 cos(8)—-2

1-262%-2 cos(6)+cos 2(6)

lim
6-0
. 1—cos(0)
lim
-0 62

. 1—cos(30)
lim——=
6-0 62

. 1—cos(ab
lim 1-cos(af)
6-0 b6

(lal_r)r(l) tan(0)
(lal_r)r(l) 3tan(8)

. tan(@
lim 220
6-0 06

im
0—0 tan(8)

. tan(360
lim (36)
-0 6

él_r)r(l) 6cot(0)

49. lim

50. lim

51. lim
52. lim
53. lim

54. lim
55.
56. lim

57. lim
58.

61. lim
62.

63.
64. lim

65.

66. 1

67.

560 +sin(36)

9—0 tan(46)—76cos(68)

1—cos 3(6)
98>0 sin 2(6)

2+sin(0)
0-0 3+6
62+1
01—>o 6+cos(0)
6+tan(0)
0—-0 sin(0)
1—-cos(36)
6—-0 0Osin(8)
lim 1—C(.)S(20)
6-0 6sin(8)
1—cos(0)
6—-0 6sin(6)
cos(6)
0—0 0 csc(6)

girré sin(28) cot(8)

1—cos(0)

' el—r>r(1) sin(6)
60. lim

1—cos(0)
0—-0 tan(6)
sin(0)
0—0 tan(6)

. 2sin(6)—-sin(26)
gl% 6 cos(0)

. tan(0)-sin(0)
}915% 6 cos(0)
csc(8)—cot(0)
6-0 sin(0)

. 20+4+1—cos(0)
lim———=
6-0 36
im sin 3(0)
6-0 (26)3

4602436 sin(6)

lim

6-0 62
sin[cos(60)]
68. }91_1}(1) sec(6)

83. gi_rf(l)[csc(H) — cot(6)]

. 1 1
84. 11913(1) 9_2_925ec(9)]

sin(6)
85. (lgl_r)% T

. sec(6)-1
86. (lgl_r)% 5
cos(26)—cos(0)
87. };‘L‘%—sm )

cos(6)
88. (lglir(l) csc(6)

89. lim —%

im
0—0csc(f)+1

90. girr(l) 262 sec %(0) cot 2(6)

91. lim < 4(0) tan(8)+sin 2(8)—csc(8)+sec(6)]

8-0 6~3
. 63 csc 3(9) 2
92. 191113 [3 sec(9) — e T 02 csc(9)

93. (lgi_r}g)[cos(e) — sin *(6) csc ?(6) — tan(6)]
94, lgilra[SHZ csc %(8) + tan(8) cos(8)]
5. g)irr(l) 20 cot(8) sec(9)

cot(0)
96. él_r)r(l) Lsc(a) + sec(H)]
. sin(20) cos 3(8)
o7y R

98. éi_r)r(l)[cos 2(0) — sec(6) sin(e)]

cot 2(8)+1
2. }913(1) csc 2(6)

. csc 2(0)
100. 1;1_13(1) cot 2(0)+1

. sec 2(0)
101. 1;1_13(1) tan 2(0)+1

“Only he who never plays, never loses.”
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